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A HXE 85,942 85.9 100,081
E|ldhHaXE 36,544 93.6 39,041
f I\ T N =) 15,122 83.2 18,174
(B KRKE 1,342 83.9 1,600

Hi 138,950 87.4 158,896
Ef XK # K E 15,648 58.5 26,729
,’E PoH K E 11,473 101.2 11,335
I | /% K= 6,020 106.5 5,651
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(1) #85

(Bfr:b)

FREE 255 7 245 7 PRE: S 225
Tt & & 54,143 53,416 693 34
RILEBR 33,571 33,397 174 -
F A 3,935 3,935 - -
" F 3,169 3,062 107 -
B W 12,858 12,856 2 -
M M| 7,091 7,091 0 -
1T 5,362 5,297 65 -
| | & 5 1,156 1,156 0 ~
EEEER 13,077 13,054 23 -
% 4,963 4,963 - -
7 N 3,900 3,900 - -
B B 201 201 - -
% E 429 429 - -
F OE 530 529 1 -
B = -
o= 43 43 - -
b 174 174 - -
£ % 2,545 2,522 22 -
B [ 293 293 - -
TEEBRR 17,129 17,129 - -
S 7,022 7,022 - -
E W 6,703 6,703 - -
a 1,707 1,707 - -
2 H# 1,696 1,696 - -
mEEER 11,719 11,719 - -
-3 2,453 2,453 - -
T M 5,691 5,691 - -
= = 3,575 3,575 - -
HEEEBR 8,223 8,223 - -
3 B 7,446 7,446 - -
O 41 41 - -
X K 4 4 - -
E E 684 684 - -
= R 48 48 - -
;W -
TENEERR 3,305 3,305 - -
E mW 706 706 - -
g R 860 860 - -
7 - 213 213 - -
L B 324 324 - -
W a 719 719 - -
R 17 17 - -
F 30 30 - -
T IE 344 344 - _
= Al 93 93 - -
AMEBE 33,679 33,679 - -
= M 12,688 12,688 - -
& = 15,584 15,584 - -
E B 494 494 - -
B X 2,953 2,953 - -
X » 1,258 1,258 - -
B OIG 418 418 - -
BE R B 284 284 - -
i #E -
& it 174,846 173,922 889 34
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4 FRSFERNEHEMFRANRERR

(1) EEXK=E
=k (BB, %)
- % e ] =  H K =

1 % 2 % 3% H®BHMNA|1F 2% 3F HESHN
it & B 47,356 10640 16948 19,763 5] 225 358 417 0.0
HLEBE 25,687 4,841 8445 11,970 430 188 329 466 1.7
' & 2,906 367 1,283 1,199 58 12.6] 441 41.2 2.0
A F 1,964 155 411 1,195 202 79 209 609 103
1 11,064 3,733 4,407 2,866 58/ 337 398 259 0.5
# H 5,253 330 1,585 3,292 46 6.3 302 627 0.9
(TN 3,664 82 656 2,860 66 22 179 781 1.8
B B 836 175 104 557 0] 210 124 666 0.0
e TG 11,300 2,670 4617 3,882 131 236 409 344 12
* 4,436 627 2,143 1,642 23| 141] 483 370 05
PN 3,406 866 1,505 1,000 34| 254|442 294 1.0
BB 170 - 33 138 0 - 192 808 0.1
% E 330 4 131 171 24 11 396 519 74
F E 492 172 136 184 0] 350 276 3713 0.1

B = -
wmxE N 43 20 12 6 5 471 280 139 11.0
[T 138 11 51 74 2 83 368 533 1.6
E % 2,136 965 564 579 28| 452 264 271 1.3
% @ 149 4 43 88 14 29 289 588 9.4
JLEEE RS 4191 7 468 3,295 420 02 112 786 100
oA 1,556 7 123 1,251 175 05 79 804 112
E W 956 - 41 756 159 - 43 79.1 16.6
a 733 - 4 718 11 - 05 979 15
B/ H 946 - 300 571 75 - 317 603 8.0
HEEBE 10,166 2,796 3,935 3,304 131 275 387 325 13
g B 2,311 752 951 596 11| 325 412 258 05
2 M 4,742 1,216 1,794 1,720 13| 256 378 363 0.3
= E 3,113 828 1,190 988 107| 266 382 317 34
ERERB 6,521 1,186 2,673 2,499 162 182 410 383 25
OB 6,017 990 2,609 2,324 95| 165/ 433 386 16
R OH 29 - 2 26 - - 86 914 -
X R 4 0 2 2 - 86/ 439 475 -
E E 452 196 60 129 67| 433 132 286 148
= B 19 - 1 18 - - 29 971 -

W -
P EMEERE 2,354 258 825 1,130 141 11.0] 351 480 6.0
5 503 - 134 313 56 - 266 622 112
B 524 61 191 262 117 365  50.1 1.7
[ | 150 5 65 80 - 35 433 53.2 -
L B 239 37 101 95 6/ 155 421 399 25
(T 538 70 173 227 68| 130 322 422 127
®m B 15 1 8 6 0 35 570  38.1 1.4
F 26 6 15 5 -l 231 579 19.1 -
2 B 272 79 98 94 1| 288 361 346 05
= A 87 0 40 48 - 00 455 544 -
NI EBUS 31,375 19,855 6,777 4,532 211 633 216 144 0.7
= M| 11,831 6,937 3,329 1,512 53| 586 28.1 12.8 0.4
& B 14,906 11,670 1,620 1,613 3] 783 109/ 108 0.0
£E & 447 130 194 123 1 29.1 433 274 0.2
N 2,557 737 1,110 665 45 288 434 260 1.8
X % 1,072 209 424 378 62| 195 395 352 5.7
Ol 386 167 83 107 29| 432 215 277 7.6
B R B 176 4 18 136 18 25 100 772 102

H -
& & 138,950 42,256 44,688 50,376 1631 304 322 363 1.2
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AHKZ (BESL: b2, %)
- % # M = =3 & e &

% 2 % 3 % HEHN|1F 2% 3% HEHN
it &/ B 35,209 8,273 11,945 14,987 4] 235 339 426 0.0
HLEBE 15,335 3,559 5,460 6,173 143 232 356 403 0.9
T & 2,571 367 1,262 897 46| 143 49.1 34.9 1.8
A F 1,000 57 192 703 48 57 192 703 48
1 6,293 2,765 2,471 1,039 18| 439 393 16.5 0.3
M H 2,611 132 978 1,491 10 5.1 375 571 0.4
(TN 2,130 78 474 1,557 21 37 222 734 1.0
B B 729 160 83 486 -| 220 113 667 -
BRERE 6,549 1,650 2,994 1,858 47| 252 457 284 0.7
xR 2,048 229 1,263 554 3l 112 61.7] 270 0.2
wmooK 2,720 815 1,270 625 10| 300 467 230 0.4
BB 131 - 27 104 0 - 207 792 0.1
% E 288 4 127 142 15 120 442 495 5.1
F E 200 78 54 67 0] 392 270 337 0.0

B R -
wmxE N 26 13 8 3 2| 493 297 129 8.1
[TTR! 111 11 37 63 0 99 335 563 0.3
E % 946 497 176 260 13| 526 186 274 1.3
B @ 78 3 31 40 4 4.1 397 512 5.0
LEEBUS 2,018 5 330 1,487 195 02| 164 737 9.7
oA 842 5 83 678 76 05 99 805 9.0
E W 465 20 373 71 - 43 803 15.4
a 147 - - 144 3 - -/ 980 2.0
B H# 564 - 227 292 45 - 402 518 8.0
HEEBE 5,867 2,662 2,400 787 18| 454 409 134 0.3
g B 1,362 729 496 137 1 535 364 100 0.0
2 M 2,807 1,200 1,128 477 2| 427 402 170 0.1
= E 1,698 733 776 173 15| 432 457 102 0.9
REBE 3,680 942 1,652 1,047 40| 256 449 284 1.1
OB 3,434 936 1,605 882 11 273 467 257 0.3
R OH 28 - 2 26 - - 87 913 -
X B 4 0 2 2 - 90 451 459 -
E E 197 5 42 120 29 27 213  61.1 14.9
= B 17 - 0 16 - - 25 975 -

M -
P EMEERE 1,620 206 645 728 42| 127 398 449 2.6
5 348 - 128 203 17 - 366 584 5.0
B2 R 341 30 112 192 7 87 329 563 2.0
M W 130 5 63 61 - 40 488 472 -
L B 185 37 92 53 4 197 496 288 1.9
w A 401 64 154 167 14| 16.1 386 418 36
®m B 5 0 1 4 - 12| 235 753 -
F N 15 6 8 2 -| 384 487 129 -
B IE 149 64 58 28 -| 428 386 186 -
= A 46 0 29 17 - 0.1 633  36.6 -
RN B BUS 15,665 12,806 2,204 605 50 817 141 3.9 0.3
= M| 5,456 4,507 753 174 21 826 138 3.2 0.4
® B 7,685 7,162 398 122 2 93.2 5.2 1.6 0.0
£ & 246 126 110 10 512 449 40 -
B K 1,315 645 540 129 2| 490 410 9.8 0.1
X » 648 196 332 102 18 302 512 15.7 2.8
= 244 165 57 19 4] 675 233 7.6 16
BE R B 71 4 14 50 3 63 194 699 45

;‘q: -
& &t 85942 30,102 27,630 27,671 539 350 321 32.2 0.6
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PR AT (B, %)
- % e # =  H K =
1 % 2 % 3% H®BHMNA|1F 2% 3F HESHN
it & B 2,225 63 589 1,573 - 29/ 265 707 -
HLEBE 9,548 1,220 2,873 5,281 174| 128 301 553 1.8
' & 305 - 21 274 11 - 6.8 897 35
5 F 795 77 185 433 100 97 233 544 126
T W 4,463 926 1,877 1,628 33 207 421 365 0.7
# H 2,458 197 604 1,643 14 80 246 669 0.6
[T 1,434 4 170 1,245 16 03 118/ 868 1.1
BB 92 15 17 60 0] 165 185 649 0.1
e TG 2,779 643 1,013 1,085 39 231 364 390 14
* 825 62 337 413 13 75 408/  50.1 15
PN 505 33 201 263 7 6.6 399 521 1.4
B E 36 - 5 31 - - 148 852 -
% E 39 0 4 29 6 0.2 97 749 152
F OE 226 80 74 72 ofl 352 327 320 0.1
B = -
wxE N 14 6 3 2 2| 457 244 149 15.0
w3 24 0 13 10 0 1.5 55.1 416 1.8
E % 1,052 460 363 222 7| 437 345 211 0.7
7 [ 58 1 12 42 3 1.7 207 727 49
JLEEE RS 1,808 3 129 1,534 143 0.2 71 848 7.9
oA 648 3 37 544 63 0.4 57 841 9.8
E W 432 - 18 362 52 - 43 836 121
a 390 - 3 382 5 - 07 980 1.3
B/ H 338 - 70 246 22 - 208 728 6.4
HEEBE 3,857 134 1515 2179 28 35/ 393 565 0.7
g B 811 23 452 334 2 28 557 412 0.3
2 M 1,828 17 664 1,142 5 09 363 625 0.3
= E 1,218 95 399 703 21 78 327 578 1.7
ERERB 2,705 245 1,017 1,397 46 90/ 376/ 517 1.7
OB 2,456 54 999 1,387 15 22 407 565 0.6
R OH 0 - - 0 - - - 1000 -
X KR 0 - 0 0 - - 16.7 833 -
E E 247 190 18 8 31 77.0 7.2 34 125
= B 2 - 0 2 - - 56 944 -
W -
P EMEEHRE 656 53 180 368 56 80 275 56.0 85
E m 138 - 6 109 22 - 46 795 15.9
E 1’ 174 32 79 61 2| 182 455 354 0.9
M W 20 - 2 19 - - 79 921 -
L B 48 0 9 37 2 07 182 773 38
w A 110 5 19 56 31 48 170 505 277
®m B 9 0 7 1 0 49 78.6 15.8 0.7
F N 10 0 8 3 - 09 743 249 -
2 B 110 15 41 55 - 135 369 496 -
= A 38 - 11 27 - - 283 717 -
NI EBUS 12,965 6,906 4522 1,488 49| 533 349 115 0.4
= M| 5214 2,334 2,554 310 15| 448 490 6.0 0.3
& B 5,909 4,507 1,213 188 1 763 205 3.2 0.0
£ & 179 4 83 92 0 22 463 514 0.1
B K 1,095 48 550 480 16 44 503 438 15
X 7 373 11 91 261 9 3.1 245 70.0 2.5
Ol 120 2 26 87 4 19 219 732 3.1
BE R B 76 - 4 69 3 - 50 913 3.7
;‘q: -
& & 36,544 9,266 11,837 14,905 535 254 324 408 15

F:. ) SO ROBRCAHERNRP—BRLENBEL D,
2)  T0) [REFICEEEVED, (-] FZEEALZVELEDETT,

-6 -



(1) ZRKE
I\ b Nl

(B b, %)

= £ # # =  H K =
REH=E
1 % 2 % 3% H®BHMNA|1F 2% 3F HESHN
it &/ B 9,320 2,142 4379 2,798 1] 230 470 300 0.0
HLEBE 700 43 94 450 112 62 134 643  16.1
5 #H 30 - - 28 2 - - 937 6.3
5 F 160 14 34 59 53 86 212/ 370  33.1
T W 255 30 50 169 7| 116 196  66.1 2.6
M H 179 - 3 153 22 - 18 858 12.4
w2 64 - 4 32 29 - 6.1 493 446
B B 12 0 3 9 - 02 247 751 -
BB 1,384 266 445 633 40| 192 321] 457 2.9
* 1,003 225 383 387 8] 224 382 386 0.8
PN 156 18 28 98 12| 117 180/ 628 75
B E 3 - 3 - - 49 951 -
B E 4 - - 0 4 - - 0.8 99.2
F E 66 14 44 o] 218 117  66.1 0.4
B = -
wxE N 2 1 1 0 ol 324 301 18.1 19.3
w3 2 0 0 1 1 1.2 6.1 354/ 573
E % 135 8 25 95 8 58 182  70.3 5.7
7 [ 13 0 0 5 7 1.2 09 415 564
JEEEE RS 345 - 8 255 82 - 23 740 238
oA 52 3 13 36 - 52 259 689
E W 57 - 2 21 35 - 27 368 604
a 193 - 1 188 3 - 06 978 15
B # 43 2 32 9 - 56 745 19.9
HEEBB 442 20 337 85 0.0 44 762 193
g B 138 - 4 126 9 - 28 910 6.2
2 M 108 1 101 6 - 1.0 937 5.3
= E 196 15 110 71 0.0 75 562 362
ERERD 135 4 55 76 - 31 406 563
B 128 - 4 55 69 - 33 426 54.1
R OH -
X B -
k E - - 0 7 - - 54 946
= B -
W -
P EMEERE 77 - 34 43 - 0.1 444] 555
E m 17 - - 17 - - -1 100.0
B 9 - - 9 0 - - 949 5.1
2 i -
L 5 - 5 1 - 16 870 115
w A 27 - 4 23 - - 148 852
®m B 1 - - 0 0 - - 750 250
F 0 - - 0 - - -/ 100.0 -
Z & 13 - - 12 1 - - 896 10.4
= A 4 - - 4 - - - 1000 -
NI EBUS 2,719 131 44 2,434 110 48 16/ 895 40
= M| 1,147 84 22 1,025 16 7.3 1.9 893 1.4
t B 1,312 1 8 1,303 0 0.1 06 993 0.0
£ & 22 - 0 21 1 - 10 96.7 2.4
B K 138 44 13 54 27| 320 95 388 1938
X » 49 2 1 15 32 39 10 30.1 65.0
Ol 23 - 0 1 22 - 0.6 3.1 96.3
BE R B 29 - - 17 12 - - 586 414
;‘q: -
& F 15,122 2,583 4,994 6,997 549/ 171 330 463 36
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(1) EBXKE

A BIEAT

(B b, %)

BRENE £ e # = £ % H =
- = = | 3% BEN| 1% 2% 3% @ES
it &\ B 602 162 34 405 -| 269 57 674 -
HLEBE 105 20 18 66 187] 175 63.1 0.7
' & -
= F 9 7 - 1 1 82.2 - 9.9 79
g W 53 12 9 31 - 236 16.7 59.7 -
M H 5 - - 5 - - - 100.0 -
w2 35 - 9 26 - - 24.7 75.3 -
BB 3 - 1 2 - - 300 700 -
BREBE 588 111 166 306 5/ 189 282 520 09
* 559 111 160 288 o] 199 285 516 0.0
PN 25 - 6 14 5 - 230 562 208
B B 0 - - 0 - - - 100.0 -
B X -
F E -
B =E -
= -
[T~
&k % - 0 3 - - 137 863 -
B [ -
LERRB 20 - 1 19 - - 72 928 -
T 15 - 0 15 - - 18 982 -
E W 1 - 1 - - - 1000 - -
a 4 - - 4 - - - 1000 -
= FH -
RKBRBRE 1 - - 1 0 - - 738 262
gk B -
2 M -
= E 1 - - 1 0 - - 738 262
EREBR -
# B -
" O -
X B -
E E -
= B -
& W -
FEMEEHRE -
5 -
E R -
M W -
L B -
W A -
B -
EF -
2 B -
= A -
AINEBBUS 26 12 5 2| 454 255 203 8.8
= M| 14 12 - 3 -| 810 -1 190 -
&t =B -
£ 5 -
B K 9 - - 724 276 -
x4 2 _ - - - -/ 100.0
TG -
BERBE -
3 -
& § 1,342 305 227 803 9] 227 169 598 0.6
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(2) BEMIAKE

Q) BFXKE

7 a&t (B k. %) 7 =&t (k)
o = | ERANBRERE| F K L E mEHE
BRERE|
5 % BB A% REN & ¥

it & & 6,036 6,028 8| 999 0.1 it & & 25
RIELRBE 7,324 7,320 4| 1000 00| |HIALBESH 386
' & 945 945 -| 1000 - ' & 83
5 F 1,098 1,098 -{ 100.0 - 5 F -
= B 1,631 1,630 o| 1000 0.0 = B 162
W H 1,749 1,747 3] 9938 0.2 W H 88
(1T 1,587 1,586 o| 1000 0.0 (1T 7 47
2 B 314 314 0| 999 0.1 g B 6
BARERRE 1,587 1577 10 994 06| IBEEEBB 167
x W 471 461 10l 979 2.1 x W 56
wm K 410 410 ol 999 0.1 TR N 84
B OE 31 31 -| 100.0 - B OE 0
% E 98 98 -| 1000 - % E 0
F ¥ 33 33 -| 100.0 - F ¥ 4
R = - H OR -
xRN - ®wE -
w3 33 33 -| 100.0 - (T 3
E % 368 368 -| 100.0 - £E % 19
i [ 144 144 -| 1000 - i [ -
LERBUE 12,936 12,704 232| 982 18] |tERBB 1
R 5,464 5,432 32| 994 0.6 S 1
E W 5,748 5,549 198|  96.6 34 E W -
g N 974 972 2| 998 0.2 g N -
= H 751 751 -| 100.0 - = H -
RERBE 1,519 1,519 -| 100.0 -| |FERRE 34
g B 140 140 -| 1000 - - 2
Z AN 926 926 -| 100.0 - Z A 23
= 453 453 -| 1000 - = 9
MEBRBE 1574 1574 -| 100.0 -| (EEEBE 128
B 1,317 1,317 -| 100.0 - % OB 112
- 12 12 -| 100.0 - I -
X k& 0 0 -| 100.0 - X & -
E & 217 217 -| 1000 - E & 14
= B 28 28 -| 100.0 - = R 2
M FoW - M oW -
FENERBE 924 920 4] 996 04| |[TERERBEE 27
B 203 203 -| 100.0 - B -
= 323 323 o 999 0.1 E 1R 12
& 63 63 -| 100.0 - & -
= B 85 81 4 95.6 4.4 L B -
w A 166 166 -| 1000 - 1T =] 14
OB 2 2 -| 1000 - " 5 -
F 4 4 -| 100.0 - F N -
Z IE 72 72 0o 999 0.1 ZE R -
= &N 6 6 0| 984 1.6 = A -
AMBEE 1,591 1,590 1| 100.0 00| [ LMBEE 713
= [ 562 562 -| 100.0 - = [ 295
' =B 306 306 -| 100.0 - ' =B 373
E & 47 47 0 994 0.6 &k & -
B X 364 364 -| 1000 - B K 31
X » 182 181 o 999 0.1 X & 5
=g 22 22 -| 100.0 - " g 10
B R E 108 108 of 999 0.1 B R B -
F O - ;] -
& & _33492] 33234 258]  99.2 0.8 g i 1,480
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(2) BEMIAKE

Q) BFKE

4 KHXS (B b. %) A4 KBAS (BEH:R)

o = | ZRANBRERE| F K L E mEHE
BRERE
5 % BB A% REN & ¥
i & E 4,221 4214 6] 998 0.2 it & & 11
RILBBE 2,863 2,860 2| 999 01| |RIABEE 327
' & 603 603 -| 1000 - ' & 82
5 F 378 378 -{ 100.0 - 5 F -
= B 401 401 -| 100.0 - = B 137
o B 545 542 2 99.5 05 o o|H 57
(1T 766 766 -l 1000 - (1T 44
2 B 170 170 -| 100.0 - 2 B 6
BARERRE 558 549 9| 984 16| |ERBEE 144
x B 68 59 9] 869 131 x W 42
wm K 208 208 -| 100.0 - TR N 84
B OE 21 21 -| 100.0 - B OE 0
% E 56 56 -| 1000 - % E 0
F ¥ 14 14 -| 100.0 - F ¥ 2
R = - H OR -
#w xRN - #w xRN -
w3 18 18 -| 100.0 - (T 2
& % 119 119 -| 100.0 - E B 15
B M 54 54 -| 1000 - B M -
LERBGE 6,629 6,553 76| 988 1.2| |[dLERRB -
& 3,061 3,046 15/ 995 05 A -
E W 2,851 2,791 60| 979 2.1 E W -
g N 352 351 1 99.7 0.3 g N -
& I 364 364 -l 100.0 - ' -
RERBE 154 154 -| 100.0 -| |EEEBE 28
- 47 47 -| 1000 - - 2
Z AN 91 91 -| 100.0 - Z A 19
= 16 16 -| 1000 - = 6
MEBRBE 472 472 -| 100.0 -| (EEEBE 83
OB 265 265 -| 100.0 - B 68
- 10 10 -| 1000 - I -
X B - X B -
T E 176 176 -| 100.0 - T E 14
= B 21 21 -| 100.0 - = B 2
3 - 3 -
FENERBE 470 468 99.7 03| |[TENERBE 24
B 136 136 -| 100.0 - B -
5 1B 132 132 -| 1000 - 5 1B 10
& 33 33 -| 100.0 - & -
5 B 59 57 1 97.7 2.3 L B -
w A 83 83 -l 1000 - W o 14
OB 0 0 -| 1000 - " 5 -
F - F N -
Z IE 27 27 -| 1000 - ZE B -
= AN - = AN -
NN BEBE 282 282 0| 100.0 00| |[LMEBEE 150
= [ 54 54 -| 100.0 - = [ 123
' =B 101 101 -| 100.0 - ' =E -
£ 15 6 6 -l 1000 - £ 15 -
1N 56 56 -| 1000 - B K 16
X 23 23 -| 100.0 - X » 2
T 4 4 -| 1000 - = 10
BE B E 38 38 0] 998 0.2 BE R B -
| - ] -
g & __15648] 15552 95| 994 0.6 8 &t 767
F:1) SOUFOBRTHENRA—BLENGELH D,
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(2) BEMIAKE

Q) BFXKE

ALY TN (B b, %) 7 PRAS (B R)
o = | ERANBRERE| F K L E BmEHE
BRERE|
5 % BB A% REN & ¥
it & & 928 927 1| 999 0.1 it & & -
RIELRBE 3,090 3,090 o/ 1000 00| |HIALBESH 56
' & 281 281 -| 1000 - ' & 1
5 F 488 488 -{ 100.0 - 5 F -
= B 897 896 o| 1000 0.0 T W 24
 H 913 913 0| 100.0 0.0 M | 29
(1T 399 399 -l 1000 - (1T 1
=z B 113 113 -| 100.0 - 2 B -
BARERRE 430 429 1| 997 03| IBEEBB 8
x B 92 91 1 99.0 1.0 x W 1
wm K 102 102 ol 999 0.1 TR N -
B OE 6 6 -| 100.0 - B OE -
% E 35 35 -| 1000 - B E -
F ¥ 15 15 -| 100.0 - F ¥ 3
R = - H OR -
#w xRN - #w xRN -
w3 11 11 -| 100.0 - (T 1
& % 106 106 -| 100.0 - E B 3
i [ 63 63 -| 100.0 - g M -
LERBUE 5113 5,023 90| 982 18] |tERBB 1
S 2,019 2,010 9| 996 0.4 A 1
E W 2,349 2,268 81 96.6 34 E W -
g N 446 446 1 99.8 0.2 g N -
= H 299 299 -| 100.0 - = H -
RERBE 527 527 -| 100.0 -| |FERRE 5
- 58 58 -[ 100.0 - g B -
Z AN 369 369 -| 100.0 - Z A 3
= 99 99 -| 1000 - = 2
MEBRBE 640 640 -| 100.0 -| (EEEBE 44
OB 590 590 -| 100.0 - % OB 44
- 2 2 -| 1000 - | -
X B - X B -
T E 40 40 -| 100.0 - T E -
= B 7 7 -| 1000 - = R
3 - 3 -
FENERBE 360 357 3 993 07| |[TERERBEE 2
B 59 59 -| 100.0 - B -
= 155 155 o 999 0.1 E 1R 2
M 27 27 -| 1000 - M -
L B 21 18 2| 886 11.4 L B -
w A 65 65 -| 1000 - 1T =] 0
m B 1 1 -| 1000 - m 5 -
EF 2 2 -| 100.0 - F N -
B 1B 28 28 -| 100.0 - ZE B -
= &N 2 2 -| 100.0 - = A -
AMBEE 385 385 100.0 00| [ LMBEE 562
= [ 57 57 -| 100.0 - = [ 172
' =B 66 66 -| 100.0 - ' =B 373
£ 15 9 9 -| 1000 - £ 15 -
BE XK 100 100 -| 100.0 - B X 14
X » 86 86 o 999 0.1 X & 3
= 14 14 -| 100.0 - " g 1
BE B E 53 53 0] 999 0.1 BE R B -
F O - F O -
& & 11473 11,877 96] 99.2 0.8 g &t 679
E:1) SOUFOBRTHENRA—BLENGELH D,

2)  T0J FEALICHEEGEVLDBO.

- 11 -

-] FEEALGVDBDETRT,




(2) BEMIAKE

I MRS

(B b, %)

Q) BFKE

T MEAT (AR

I ERAIBREHRE| FE R/ L E BREHE
Tle w mualer ges & &

it & & 705 705 - 100.0 - it & & 14

RIELRBE 1,330 1,329 99.9 01| |RIABEE 2

5 & 62 62 100.0 - 5 & -

5 F 231 231 -{ 100.0 - 5 F -

7O 320 320 -| 1000 - O -

B A 275 274 o| 1000 0.0 B H 1

(1T 413 413 ol 999 0.1 (1T 0

=z B 29 29 0| 993 0.7 2 B -

BAREBRE 476 475 0| 999 01| |BEEEBE 8

% W 187 187 -| 1000 - % 8

wm K 100 99 ol 998 0.2 wm K -

B OE 3 3 -| 100.0 - B OE -

% E 7 7 -| 1000 - % E -

F o= 5 5 -| 100.0 - F o= -

B X - B X -

xRN - wmx N -

TR 4 4 -| 100.0 - TTR -

& % 143 143 -| 100.0 - E % -

g M 28 28 -| 100.0 - g M -

LERBUE 1,194 1,128 66] 945 55| |ALERBS -

& 384 376 8| 980 2.0 & -

E W 548 490 58 895 105 E W -

g N 175 175 ol 999 0.1 g N -

= H 88 88 -| 100.0 - = H -

RERBE 834 834 -| 100.0 -| |FERBE 1

- 34 34 -| 100.0 - g B -

LS | 465 465 -| 100.0 - Z A -

= E 335 335 -| 1000 - = = 1

MEBRBE 463 463 -| 1000 -| fEREBRB -

OB 462 462 -| 100.0 - B -

- - | -

X B 0 0 -| 100.0 - X & -

E & 1 1 -| 1000 - E & -

= B - = B -

3 - 3 -

FENERBS 95 95 99.8 02| |TPTERERKE -

B 9 9 -| 100.0 - B -

= 36 36 -| 100.0 - E iR -

2 T 3 3 -| 1000 - 2 -

L B 5 5 o 994 0.6 L B -

w A 18 18 -| 1000 - oo -

m OB 1 1 -| 1000 - " 5 -

EF 2 2 -| 100.0 - F N -

B 1B 17 17 0o 996 0.4 ZE R -

IS 4 4 0 97.8 2.2 a5 M -

AMBEE 923 923 0| 100.0 00| [ LMBEE 1

= [ 451 451 -| 100.0 - = [ -

' =B 138 138 -| 100.0 - ' =E -

£ & 32 32 0| 992 0.8 £ & -

1N 207 207 -| 1000 - N 1

X 73 73 -| 100.0 - X » -

=g 3 3 -| 100.0 - T g -

BE R B 18 18 -| 100.0 - BE R B -

F O - F O -

& & __6020] 5953 67] 989 1.1 g &t 26
E:1) SOUFOBRTHENRA—BLEVNGELNH D,

2)  T0J FEALICHEEGEVLDHO.

-] FEEALGVDBDETRT,

- 12 -




(3) EFKE
A H/NHIKE (B k)

(AL, %)

2 BEMIRAKE
F WPhRKE

E_E_ I 11T o= l|lole I I 1 1 & & | = 1f(5rftr @ 1 el eyt gyt rrr
&
i
&
bu| lewsmsa BREHMKESRHE |[CI=H (o2 ﬁﬂﬁEamw g o O 0 = B R
IE IE 1k IE IE IE e Em &
ﬁ&%ﬁﬁmmﬁ&ﬁmﬁh;i$mﬁﬁwﬁéaﬁmﬁ§zwmﬁxﬁﬁu@%%mmmﬁﬁﬁgwaﬁﬁmxﬁﬁ
A Y i Y Y B i A
T -
Mn | oyt | | | | |
¥
i
H|®
2|x[88] 2232383 3 2 3 = 3 = =
wlal22] 22222 S| 2 S = S S S
E_E_JP oyt | | | | | I
Lo
(38
K | m3
& 1
N|— O MM~ O AN|lmm|m (=] o <+ <t — —_— —
=|E2|¥ = S 8
m I
i [
AN[—|] | ©OC o~ NM™» | I & 1 1 1 1 1 ’1Jjejro I <k <yt ¢t v vyt °r °r 1 1=ttt 1r 1 =111 —
ﬁ 4 — S 3
@ |
&
bu| [eewmmEsm BREHKESIHE |[RI=4 |oR e ﬁﬂﬁEamw g o O 0 = K .meﬁm%
IE IE A IE 1B IE R g am |
ﬁ&%ﬁﬁmmﬁwﬁmﬁﬁ;i$mﬁﬁwﬁéaﬁmﬁ§z&ﬂﬁxﬁﬁu@%%mmmﬁﬁﬁgwaﬁﬁwxﬁﬁ
ik Y ~ ik 4l 4l |5l ik #
uls 5 3] gt s E =
L =R 2 K i & R~

-1 FEEAZTVILDETT,
- 13 -

RA—HLLGWNEENH S,

DY FOERTEEA
M0) [REELICHE=B LB D,

2

1)

2)

FE3



5 FEFE. HWARERR

(D PR FERT (KMAT+HHAT) (B b, HEER: %)
" A 1Z [ 2 % |3 % [1EKsHN " & % [HEs
FhA 5 F 1 - 1 1000 -
5. 1R -
i 1 - 1| 1000 -
M5 A 30 22 - -| 100.0 - 8 90.9 9.1
7EOA g B 15 13 - 564 436 - 2| 1000 -
L B 5 2 3.0 -| 940 3.0 3| 100.0 -
g 19 15 04] 487 505 0.4 5/ 100.0 -
FE it i & 732 717 2.8 508 465 - 15 100.0 -
HE-HEY # H 69 53 - 50/ 950 - 15| 100.0 -
HPIhh = 297 274 530 37.0 10.0 - 23| 1000 -
w2 128 108 - 0.1 99.9 - 21| 1000 -
g B 388 272 - 0.1 99.9 - 117| 100.0 -
;oA 284 155 -| 245 75.4 0.1 129 99.6 04
a i 130 51 - -| 100.0 - 80[ 995 05
g F 15 3 - -| 100.0 - 12| 100.0 -
I 107 95 11.1 267 618 0.4 12| 100.0 -
B 1,349 956 16.3 172 664 0.1 393 997 0.3
HOHEY = B 1 — 1| 1000 -
TIILRA— X » -
I LA W #iz 2,030 1,613 0.6 58] 925 1.0 417] 1000 -
m K 4 1 - 91.3 8.7 - 3| 1000 -
% E 1 1 - - -[ 100.0 o| 100.0 -
;oA 6,126 1,229 0.6 35 85.1 10.7 4,896 99.5 05
E W 4958 530 - 18] 819 16.3 4428| 971 2.9
a i 1,108 457 - 06 979 15 651 99.8 0.2
B H 486 200 - 102 855 44 286| 100.0 -
3 0 0 - 75.0 25.0 - -
B 41 38 - 55.1 449 - 3| 1000 -
m B -
B 1 - 1| 1000 -
B 14,754 4,070 04 47| 887 6.2 10,684] 986 14
BHTI F # 3,696 2,817 130] 455 395 2.0 879] 100.0 -
M /| -
7 B 0 0 - -| 100.0 - -
H 3,696 2,817 13.0]  455] 395 2.0 879] 100.0 -
KD E i & & 385 274 7.2 66.8 26.0 - 111 100.0 -
Rtk it iE & 125 105 225 53.9 23.6 - 20| 100.0 -
FAVIL BB 4 4 - 233 72.5 42 1 1000 -
E W 293 86 - 45 541 414 206| 945 55
= -
B H 26 0 - - -| 1000 26| 1000 -
= B 3 3 - -| 657 34.3 o| 100.0 -
o8 1,562 1,277 83| 332 574 1.1 285 100.0 -
m OB 16 6 - 14| 986 - 9] 1000 -
E & 9 3 9.0 -| 650 26.0 6] 100.0 -
B 1,912 1,379 7.7 31.1 57.5 3.8 533  97.9 2.1
Ao a5 49 49 - -l 1000 - -
RPN it i&E & 864 832 34 22.6 74.0 - 32 100.0 -
FHIOH B i 98 95 20.9 65.7 13.4 - 3] 100.0 -
REFAR = A 3 — 3] 1000 -
1THEE % E 17 10 - 35 96.5 - 71 100.0 -
=N 2 9 9 - -1 100.0 - -
X &~ -
=G 21 21 0.1 392| 576 3.0 ol 100.0 -
B 30 30 0.1 27.8 70.0 2.1 ol 100.0 -
FoLA Hm K -
£ ¥ 114 87 0.3 99| 893 05 27| 100.0 -
g 114 87 0.3 99| 893 0.5 27| 100.0 -
—Epi=m 3B 1,846 1,717 85| 58.1 33.2 0.2 128 100.0 -

- 14 -




B = & & X = BEMNMIAKE

a1 3 Hlww 2 N E T % n x N ZE & OE |

i} " 15[ 2 F |3 ZF [5E®H : & % IREN

HJFa14h F E 30 21 - 74.6 25.4 - 9] 1000 -
£ -

m 20 20 - -| 100.0 - -

E E 304 156 22| 204 4717 29.6 147| 100.0 -

= B 44 17 - -| 100.0 - 27| 100.0 -

E 543 377 - 333 571 9.6 166 100.0 -

5 1B 579 330 90| 322| 565 2.2 249 999 0.1

oW 73 43 0.1 6.8 932 - 30| 100.0 -

LB 250 189 137 449 398 1.6 61 96.2 38

W A 548 409 90| 336| 486 8.8 139 100.0 -

ZF 1B 3 3 - 60.0[ 400 - ol 100.0 -
= -

B 2,394 1,566 6.1 323 533 8.2 827 99.7 0.3

BDEFIFAH iz 1,587 1,202 60 304| 633 0.3 385 100.0 -

7R N 391 380| 387 373 222 1.8 11| 100.0 -

A 47 27 - -| 993 0.7 20| 100.0 -

B2 HF 994 692 -|  39.1 52.6 8.2 303| 1000 -

g 3,019 2,300 95| 338] 537 3.0 720]  100.0 -

ayLA = W 820 278 - 79] 914 0.7 542] 997 0.3

ZZXAH) = F 13 7 2.7 28.8 64.4 4.1 7| 100.0 -

ER RSP E 15 12 - 60.4 39.6 - 2| 1000 -

EEEERN # H 25 8 - - 100.0 - 17| 100.0 -
LTS -

g 25 8 - -| 100.0 - 17| 100.0 -

TFIFEN E % 152 82 6.3 190 628 11.9 70| 100.0 -
AX1%Hh = -

W fiz 24 13 -| 405 595 - 12[ 100.0 -

B B 0 0 80.0 20.0 - - o[ 100.0 -

oon 5 1 - -| 100.0 - 3| 100.0 -

g 30 14 09| 366 626 - 16| 100.0 -

BFFHIN = 3,626 3520 540[ 342 11.8 - 105 100.0 -

B B 696 544| 322 182| 496 0.0 152 100.0 -

* O 2,748 2,635 9.1 56.9| 333 0.6 113 913 8.7

/7 N 3,120 2,827 245| 469| 283 0.3 293| 100.0 -

BB 165 143 - 187 813 - 22| 100.0 -

H E 214 184 1.7 382 499 10.2 31| 1000 -

F E 35 34 - 2.3 975 0.2 1| 100.0 -

R 59 46 -| 353 647 - 13| 100.0 -

£ ¥ 66 55 17.8 228 452 14.2 11] 100.0 -

Iz B 52 41 - 24.6 75.4 - 11| 100.0 -

E 10,782 10,030/  30.1 425 268 0.5 752] 987 1.3
AFA1HEH Mo/ -

w2 59 39 -| 390 607 0.3 20| 100.0 -

B 59 39 - 390 607 0.3 20| 100.0 -

=F5565 K 1 1 -| 865 13.5 - -

2RID5 it & & 45 8 - -| 1000 - 371 1000 -
AR = = -

H B 718 545 16| 374 605 0.5 173| 100.0 -
W OB -

E E 213 208 91.6 7.9 0.4 - 6 100.0 -

B 90 78 - -| 976 2.4 13| 100.0 -

g IR 75 73 43.6 52.6 35 0.3 3| 1000 -

| 15 8 - 291 70.9 - 6| 100.0 -

i 1,111 911 253  287] 455 0.5 201| 100.0 -

24 = R 2,951 2,134 72| 324] 586 1.8 818] 100.0 -

hékha g B 9 5 - -[ 100.0 - 4] 100.0 -

25FEN E % 117 112 847 5.2 10.0 0.1 6] 100.0 -

2PFEN g B 2 — 2| 100.0 -

25NDF it & & 414 226 04 270 708 1.8 188] 97.1 29

Y ILLAA i E 956 706 - 147 853 - 250] 100.0 -

- 15 -



B = = ] X = B EMNMIBABKE

w12 B th wye| p oz = & te ES N = kB K |

" 15 % [ 3 F [FHH : & & [

== 5 1B 1 0 - 11.1 88.9 - ol 100.0 -
oW 115 94 55| 630 315 - 21| 1000 -

X 9 181 122 176 632 14.3 5.0 59| 100.0 -

i 297 216 123 630 21.9 2.8 80| 100.0 -
EEFESY it & & 37,753 33,741 24.2 33.7 422 - 4012 99.9 0.1
FhtrF) [T} 31 30 03| 735 247 15 1| 100.0 -

E % 1,693 1,613] 521 29.9 18.0 0.1 80| 100.0 -
5 18 24 24 - -| 1000 - -

B 1,748 1667] 504| 302 19.2 0.1 81| 100.0 -
HCHED m_ K -
+JnaAt a2 F 614 482 11.8] 327 510 4.4 132] 100.0 -
INRLAS x W 226 183 15.6 43.1 41.2 - 43( 100.0 -

BB 23 19 -| 255/ 745 - 4 100.0 -
L. 5 -

B 249 202 142 414] 444 - 47| 100.0 -
Bt m E 61 47 -|  606] 394 - 15[ 100.0 -
NYEAR) it & & 169 169 — -| 1000 - -

KE it i & 338 9 - 100.0 — — 329 100.0 -

ALLVARE T 5 10 4 14 48] 939 - 5/ 100.0 -

2914535 F O 349 330 429| 283] 287 0.0 19[ 100.0 -
E W -

A 36 2 - - 429 571 34| 1000 -
= HF -

g B 2,199 2114 356| 440| 203 0.1 85| 100.0 -
% [ 252 136 30/ 315/ 605 5.0 116 100.0 -
A 5,095 4635 262 387 349 0.1 461| 100.0 -
= = 3,019 2905 285| 403| 300 1.1 113| 100.0 -
3 B 2,484 2,240 325 41.6 26.0 0.0 244 100.0 -
g R 111 86 -| 546 454 - 25| 100.0 -
@ W 4 3 - -| 1000 - o| 100.0 -
W o 103 93| 353 383 263 - 10[ 100.0 -
= 5 15 13 39| 568 389 05 2| 100.0 -
F 20 19 31.3| 616 7.1 - o| 100.0 -
E IR 308 253 310/ 380/ 310 - 55| 100.0 -
= 85 84 00| 475 524 - 2| 100.0 -
2 [ 10,724 10,613 645| 310 4.4 0.2 111 100.0 -
1 B 11,829 11,733 8717 10.0 2.2 0.0 96| 100.0 -
E 5 441 425 305 455 239 0.0 15[ 100.0 -
N 2,534 2377 292 447| 254 0.8 156 100.0 -
X & 944 895 20.8| 382 386 2.4 49 9938 0.2
2 IE 361 343| 487 218 274 2.0 18 100.0 -
BERE 221 133 0.8 78| 870 45 88] 999 0.1

it 41,132 39433 560/ 288 14.9 0.3 1,699] 100.0 0.0
Syxonox 5 F 52 43 229 43.1 33.0 0.9 9] 1000 -

= W 5,016 4676 315| 483| 200 0.3 340| 999 0.1

i 5,068 4719  31.4] 483] 20.1 0.3 349 999 0.1
Tupizhm = M| 29 29 - 677 323 - -

' B 1,930 1,859 74.1 235 25 - 71 100.0 -
N 33 33 -l 869 131 - -
xR -

5 1,991 19201 717|252 3.1 — 71| 100.0 -
pEUYM i & & 264 258] 285] 316/ 39.8 — 5/ 100.0 -
£23&5 £ B 128 75 25 13.6 66.6 17.2 53| 100.0 -
R dV a2 F 7 7 — 09| 937 5.4 -

Ly ) 5 F 1,839 1,172 1.9 15.9 72.2 9.9 667| 100.0 -
M | 6,384 4978 66/ 317 612 0.4 1,406| 100.0 0.0
w2 473 352 -| 452 509 3.9 122 100.0 -

it 8,697 6,501 54  296] 627 2.3 2,195 100.0 0.0

FEOTE RS 147533] 121,118 324| 32.3] 345 0.8 26415]  99.3 0.7

25 F E B B H E 149,606 122486 32.1 322 348 0.9 27,121 99.3 0.7

1)

2)  T0] [FEMITEEGZLDLO,
3) MBREREBICIEMMRERMLUNOBELEFTNA-OEMBERMF E—BLLBVGEELH D,
- 16 -

SV FOEBRTHENRD—HLGTWNGEENH D,

-1 FERENLZTVILDETRT,



(2) ER2SFEEAT UMIKEHENIAT) (B2 by, L %)
| & & X = B EMNIAKE=
m B A E o RERRE o £ & K E oz = I E
" 1 Z | 2% |3 % [ e BIEEA
ORX "2 F 20 20 963 - - 37 -
= 0 o| 100.0 - - - -
| 24 12 - 191 80.9 - 12| 100.0 -
BB 11 7 - -| 1000 - 4l 100.0 -
Hw K -
R 18 18 - -| 100.0 - ol 1000 -
a 8 8 - -| 100.0 - -
E 83 66] 305 34| 650 16| 100.0 -
TIEED = B 22 17 - 397 583 5/ 100.0 -
= M 111 107 88.6 - 11.4 4( 1000 -
® B 1 11 100.0 - - - -
B K 63 62 700 241 5.9 - 1| 1000 -
X & 37 8 - -| 594 40.6 28| 100.0 -
BERE 0 0 - - -| 100.0 o 100.0 -
&t 234 196  71.1 11.1 15.8 1.9 38 1000 -
ERRAY ) W 50 35 -| 246 75.4 - 15| 100.0 -
AREA it & & 22 22 29.7 70.3 - - -
ITFIEON 5 F 2 2 - - 100.0 - o[ 100.0 -
B W 137 120 29.9 21.9 482 - 16| 100.0 -
B/ B 2 2 -| 889 11.1 - -
&t 141 124 290 224 486 - 17| 100.0 -
AAT)L i & 3,794 3,521 31.6] 320] 364 - 273] 1000 -
TI5FA ) 1 1 - 100.0 - - -
£ B 18 18 320 423 25.7 - -
N E 19 19] " 311 4401 24.9 - -
VR xR 1,558 1312] 254] 358] 388 0.0 246] 100.0 -
TN 193 129 13.7] 223| 600 40 63| 1000 -
B 1,751 1442  244] 346 407 0.4 309] 100.0 -
REY.Y dtiEE 6,348 6,093 19.4]  52.1 28.5 0.0 255  100.0 -
E O &M 12,442 11,518 24.8 424 32.7 0.1 923] 100.0 -
25 F E R BT ¥ = 22,836 16,465 17.5 31.7 474 3.4 6,371 98.9 1.1
E:1D) SHOUROBERTHERARNA—HLENEENH S,
2)  T0) [FBALICEERZVLWED, -] EEEATVEDETT .
3) MBREHBECIEDMIEXRHAUNDOBELSEINS-OEMGBBERAITE—BLAENGELH S,

- 17 -






